9A Ka6. 9b Kab.
PasroBopsl 0 BaxxHOM 124 Pa3roBopsl 0 BaxxHOM 411
1 ypok Ucropus 109 Xumust 401
E 2 ypok Pycckuit s13p1k 309 Uctopus 109
= |3 ypok buonorus 409 AHTJ.I3BIK 124
)
q;",‘ 4 ypok Aunrebpa 303 Aunrebpa 302
é 5 ypok AHTTILA3BIK 124/307 I'eomeTrpust 302
6 ypok Ou3KyIbTYpa c/3 Pycckuii s13p1k 308
7 ypok buonorus 409
1 ypok Anrebpa 303 Anrebpa 302
2 ypok I'eomerpus 303 I'eorpadus 304
£ |3 ypox Jlutepatypa 309 Jlutepatypa 308
E. 4 ypok NudopmaTtuka 412/413 AHTJ.I3BIK 124
&2 |5 ypox 2-1i I3BIK 305/417/418 2-1i SI3BIK 305/417/418
6 ypok AHTJ1.SI3BIK 124/307 dusnka 404
7 ypoK dusnka 404 Wudopmarnka 412/413
1 ypok Anrebpa 303 Anrebpa 302
2 ypok Pycckuii si3p1x 309 OO01ecTBO3HAaHNE 109
3 ypok OO01mecTBO3HAHUE 109 OB3P 305
=
g 4 ypok Xumust 401 AHTJ.I3BIK 124
5 ypok I'eomeTpus 303 ®duskynbTYypa c/3
6 ypok AHIILA3BIK 124/307 JIuteparypa 308
7 ypok I'eorpadus 304
1 ypox WcTopus 109 duznka 404
2 ypokK AHILA3BIK 124/307 Pycckuii s13bIK 308
= 3 ypok Anrebpa 303 Ucropus 109
ég 4 ypoxk JIutepatypa 309 DuskynpTypa c\3
3 T.BepossTHOCTH U
= | 5 ypok S 303 Tpyn(uud.) 412/413
6 ypok duszuka 404 ["'eomeTpus 302
7 ypok AHTIJLA3BIK 124
1 ypox I'eomeTpus 303 JIutepatypa 308
“ 2 ypok Jluteparypa 309 buonorus 409
| 3 ypok AHI'LA3BIK 124/307 I'eorpadus 304
= |4 ypok I'eorpadus 304 AHTJI.5I3BIK 124
E S ypok buonorus 409 Xumust 401
6 ypoK OusKynbpTypa c\3 Anrebpa 302
7 ypoK XuMus 401




